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Attempt all questions.

Make Suitable assumptions wherever necessary.

Figures to the right indicate full marks.

Use of programmable & Communication aids are strictly prohibited.
Use of non-programmable scientific calculator is permitted.

English version is authentic.
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Define: Adhesion and Cohesion.
W3pet Wl Sl&pet ofl culul 1)
Convert 60 cm. of water-head into head of mercury
g0 cm. ULR[l o 1N IR0 <1l N Ui Fdl .
Derive total pressure and center of pressure on an Inclined plane immersed in
liquid.
UdIEHi AR A dsdl HI2 56 eMIQl e eleideg, dIRd.
OR
Derive total pressure and center of pressure on a vertical immersed surface in
liquid.
Udleldi A Glefl AUl UR §6 £6l8l U £ 1Qle] Fog, HAd).

Differentiate between I) Steady and Unsteady Flow
dsldd WU 1) €12 Wl WRRR 56

Differentiate between I) Uniform flow and Non-Uniform Flow
dsldd AL 1) YHict Udls W4 «ilt Y51 g6l

Derive Bernoulli’s equation and its Limitations.
wefl (@ A1 501 WA Asfl Huleldl Rod),

OR
Distinguish between laminar flow and turbulent flow.
AHlel1R Udls wal 2203Yds2 UdlE 4 dsldd du]
Write the assumption of Bernoulli’s Equation
olleflel YoAHi 5pAAd 11 {12l dul.

Derive Orifice meter equation.
H1R(sU yHlse Al

Enlist and define all the hydraulic co-efficient.

efly RISl Alel wlotid] esell culul 241Ul

Explain Hydraulic Energy Line (HGL) and Total Energy Line (TGL).
¢lds alol Jul wal 56 Gl JudlL AH ).

Explain formula with notation: (1) Chezy’s Formula (2) Manning’s Formula (3)
Basin’s Formula (4) Kutter’s Formula
YAl AHod] (1) AXLH YA (2) Hivdeldlsjyat (3) Adgeld YA (4)523°4 Yol
OR
Define: Vena Contracta

Date: 20-01-2024

Total Marks: 70
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Explain types of orifice.
WLR(se1L USR] AU,

Derive the Darcy’s formula for loss of head in pipe.

ULouHi adl 20N cuy HI2 siile Yt dIR).

Derive the equation for most economical rectangular section of channel.
oY Ystoll $EUY S WISOE HIZoqYA dIR..

Write the Most economical condition for Trapezoidal channel section.
Al 55U dd UHA I 115DE 1R ddl Vst Hi2e{l Al Guil.
The lateral slopes of a trapezoidal channel are 3:2 (I: V). In which a stream of 20
cumec flows over a slope of 1:2000. Use the design manning formula of good
cross-section of channel. Take N=0.01
2UASE Astdeil Wil alarld ) 3:21: V) B el 1:2000 SYHSAeIl UdlE 20 BUi .
AsAotell (SHLoet Aleldl s1fdlell GUAIL $A-Astdell ARL S 2101 UR A& B
N=4l0.01

OR
Write the difference between Triangular Notch and Rectangular Notch
AS|QUSIR ollU WAGHARY llA A o] dslad quil
Derive formula for discharge over rectangular notch.

diofAlRy WinMiell U R Adl (1514 2Mlad o YA dirdl.

Slope of sides of a canal with perpendicular cross section is 1:2 (H:V).
longitudinal bed slope is 1:1500. The area of cross section is 40m.Find export and
canal dimensions for ‘MOST ECONOMIC SECTION ‘C=50

512008l 513 As2Uet LRIl el@eil wligallell dlorld ) 1:2H:V) 8 Jwiel ds 4l .
{122 B 40 514 ASRAels] A=A .S 1:15004122 B51ell (15 A5 'C=HI2 (1514 50
el el @0l URHIRN 20k,

Explain Pasacal’s Law.
Ylsaell «{lum yuesdl.
Write the difference between Flow through pipe and flow through channel.
ULBUeAl Udls W &ell Udls dell dslad quil
2 cm with sharp edges.300 cm from the diameter orifice.Water emerges from the
fixed top. The veins contract vertically and horizontally parallel to 40 cm
respectively and 200cm. is Cc =0.64

1) Export coefficient

2) Diameter of the cross (water jet) at vena contracta.

3) True velocity of the edge at the vena contracta.
dlel (setladl w12 2 AH] sl (O¢Hiedl 300 A [Alsdd 21 uell will
olsA & ] Wi sH 40 A.HL 24 200 A.H] Yl GLe{l A 411S] HHidR SR Al
8 .Cc= 0.649

(1[eis1d Qs
2dsil Sle2152 UR $1¥) dleR B2(ell cUl.

(39l Slea152 UR HlRell AL dL.

OR
Explain U-Tube differential Manometer.
Slseeflud Y-2yof Neflafle uuomdl,
Write the characteristics of flow through pipe.
Adil gIR1 d&dl (MLl dleRisdi) lidl.
250 mm. Two reservoirs with a water level difference of 10m are drained by a
pipe of length 2000m in diameter. Which ends the 1000-meter-long pipe with
250mm diameter and calculate the increase in exports if replaced by pipes of
every1000m length.

250414110 .m <t UIRllell el dsldd Uldell B S0IA[ANA2000 m ALYl
dolleefl UISU GIRL S8l SaAIMi 21d 8 %250 mm <Al A8 1000 HleR divil
ULBUal YUIH 52 O el %] £351000 m GMISal ULSUL GIRI Meddidi w1d dl
[ts14ul aaRledl aA.Ld3l 52U
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